EX5100, EXT5100, Series
Parts Catalog

(&ERR)

Provisional issue

A€ PEBASUS.



@ EX5100/KS379 (
@ EXT5100/KS380 J

EX5100/KS379 @

=1
EXT5100/KS380 @

KS380Series
= poi2t i 12

@ NG=Smm Plain Seaming
@ NG=4mm ”

@ NG=5mm Z

@ NG=2 X 3mm /,

@ NG=2 X 4mm Z

@ NG=2 X 5mm *

- #3514
@ NG=4mm  Bjindstitch Hemming




KSFrz—Vhod— KS CHAIN CUTTER

REF. PART NO.

NO. MRESE & W NAME QT.
01 308451-91 F =—vh v % — (&) CHAIN CUTTER COMPLETE 1
02 308446 8% W NAME PLATE 1
03 308449 86 1R NAME PLATE 1
04 308119 A LEVER 1
05 308444 HEA FABRIC GUARD 1
06 308489 mERN FABRIC GUARD 1
07 308451491 F =—vh v % — (4) CHAIN CUTTER COMPLETE 1
08 308115-91 7 Vv —aAaq S FRAME PIPE 1
09 008421 ANV =7 OIL MARK 1
10 007063 ExY,/M4.5x8 SCREW 2
11 179458-05 T X (#iX) LOWER KNIFE 1
12 007063 Y xY,/M4.5%x8 SCREW 1
13 007039 mxv ,/M2.5 X6 SCREW 1
14 308118 ER (BHH) UPPER KNIFE 1
15 007012 Y¥xvY,//M3.5%X6 SCREW 1
16 004535 IEx Y /M3 X 4 SCREW 1
17 004819 ANAF vy b M3 NUT 1
18 179460-25 7'v ¥ a BUSHING 1
19 240053 HE#E /% % SPRING 1
20 007063 ¥xY,/M4.5%x8 SCREW 1
21 007032 Fxv, / M2.5X6 SCREW 1
22 007120 YxY/M2X3 SCREW 1
23 202174 46 wh &R OIL WICK 1
24 210766 Ik E v PIN 1
25 304085 5 BLOCK 1
26 007078 ¥xv,/M2.5X%X3 SCREW 1
27 301240 BERME (M) VACUUM REGULATOR COMPLETE 1
28 301236 REBERmSE (N) VACUUM INNER REGULATOR 1
29 301237 REBRBSE (A) VACUUM OUTER REGULATOR 2
30 301238 74 NVF - FILTER/VACUUM REGULATOR 2
31 277286B30 # = (#) PRESSER FOOT ASSEMBLY 1
32 277286B40 = (#) PRESSER FOOT ASSEMBLY 1
33 277286B50 = (#) PRESSER FOOT ASSEMBLY |
34 277287B30 # = (#f) PRESSER FOOT ASSEMBLY 1
35 277287B40 = (#H) PRESSER FOOT ASSEMBLY 1
36 277287B50 # = (#H) PRESSER FOOT ASSEMBLY 1
37 277181C40 # = () PRESSER FOOT ASSEMBLY 1



ANHBYAZSO RLEHRNEH
it 7553 KIRTSBMEMMS-7-2 TEL (06) 458-4739
FAX (06) 454-B785

PEGASUS SEWING MACHINE MFG. CO., LTD.

5= 7~ 2, Sagisu, Fukushima-ku, Osaka 553, Japan. Phone : (06) 458~ 4739
Telefax : (06) 454 — 8785

©April 1997  Cat. No.9746
Printed in Japan

FBICEREINTL\BIABE, HRDEHTFERCEBIICENBYET,
The description in this material is subject to change without notice.



	KS FOR EX(T)5100
	CHANE CUTTER 
	LIST

	BACK

